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cV  BMD-026 : EDUCATION OF CHILDREN WITH 
LOW VISION 

Time : 3 hours 	 Maximum Marks : 45 

Note : All questions are compulsory. 

Please follow instructions given in respective question. 

1. Write down the expanded name of the 

followings : 	 1x5=5 

(a) NSSO 	(b) PWD Act (c) LP 

(d) WHO (e) CCTV 

2. Write down answer of following questions in one 

or two sentences onl 

	

	 2x5=10 y': 

(a) What is incidence rate ? 

(b) Which equipment measures IOP of eye ? 

(c) What is visual efficiency ? 

(d) Define person with low vision as per PWD 

Act, 1995. 

(e) What is Nystagmus ? 
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3. 	Answer any four questions in 150-200 words : 
5x4=20 

(a) What is visual acuity and how it could be 

measured ? 

(b) Enlist various educational needs of children 

with low vision. 

(c) Discuss in short, early intervention for low 

vision children. 

(d) Distinguish between central and peripheral 

field loss. 

(e) Describe environmental modifications for 

low vision children at school. 

4. Answer any one question among followings : 

10x1=10 

(a) Limited vision in low-vision children leads 

to identity crisis and conflict within them, 

Explain. 

(b) Categorise various types of low vision aids. 

Discuss each category with examples, 

merits and limitations. 

(c) Discuss different procedures to be followed 

to develop reading and writing skills for low 

vision children. 
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1. 	F-1 ro 	rte d 	f 	 1x5=5 

(a) (NSSO) 

(b) (PWD Act) 

(c) (LP) 

(d) 3 p-c1.3-11 (WHO) 

(e) 	 4.it.t.t. (CCTV) 

	

2. 	F-1 4-ircirtgi -517tapt 4-1117W tir 	qWff 	: 

(a) -5ITETT-7 TEfT t ? 	 2x5=10 

(b) qIci (TOP) ch) f*-{=1 

~irn t? 

(c) .rEa wa-r qzr! ? 

(d) fi:71-Wff alf4F9TITT, 1995 t 3-1-T4T-{ 3-714 

..&frqd 	1-1RillfEfff (4.) I 

(e) 	 (Nystagmus) TETT t? 
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3. 	F-t 4--trofticr 	44 	ftt =4H 	drit 150 t 

200 -q-1 .14 	: 	 5x4=20 

(a) PZ c 	TciT qzift   ti4 4-1141 	-Icbc11 t? 

(b) ff51..7f 

3TEd-77- 3 ch.). 	c( I 

(c) "Sfq 	 rff4 	Fc.N Ttg e Cf 	'TT 

(d) a,4* 	srca-- 	3t-d-T Tcilz ch 

(e) 3-1T41. 	 Fc'R rcISI IC1 	f-• 	\711 

-q0 clic-110101W 4 	Raci-ii 	aukI 

	

4. 	4--tro d -57q -4 -4 ft--4:ft 1 	779 f 371t : 10x1=10 

(a) r 7rt 	fcm 4-11-1 

4.hd t 	 t cwsql 

cP 

(b) rEz 	q ,;P:11IT if (-IR 	 dx-ia-,tut  

col 	 fatt3r-diA 

*Pilaff 1-)173-f9 ct-, 721T -5A -T. 	 (44 	641ul 

(c) 3-7'4 frk qr-0- 	7167 	 act, 

t-q 3-17i7 ,3114 ark Failm frf f .441 
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